SRS 11 A1 HBAE (o Ad : HAAN+HSEAN)

K5HT4 AR | B[S (A) | I | A (B) | B [ BF(A+B) | IR
JiSIEin 2, 500 1 2,815 0 2, 847 -7 5, 662 -7
JHPTET—TH 1, 044 3 943 2 846 2 1, 789 4
JHFHT — T H 601 1 564 0 570 0 1,134 0
JHIPTHT =T H 665 0 718 0 668 -3 1, 386 -3
eI 497 2 509 0 539 3 1,048 3
JRIHTHT 7T H 336 1 361 0 334 1 695 1
JHPTHT 7S T H 298 1 359 -5 387 0 746 -5
oY 205 -1 197 0 215 2 412 2

BA 378 0 444 -1 461 0 905 -1

T H 1,957 4 2,021 0 2,076 5 4, 097 5
AT 347 2 338 3 337 -3 675 0

R H 934 0 994 1 977 2 1,971 3
T — T H 284 0 357 1 394 -3 751 -2
T T H 354 1 436 -3 448 2 884 -1
HHT =T H 504 3 685 3 649 0 1,334 3
FHTIU T H 299 1 401 0 395 3 796 3
T H 232 0 254 -2 250 0 504 )

W] = 306 0 365 1 342 0 707 1

— VK 434 -2 448 -1 454 -1 902 )

— YV KHT—TH 0 0 0 0 0 0 0 0
VAR TH 33 1 44 0 43 0 87 0
L 111 -1 129 -1 122 2 251 1

— Y ARHH 5 0 5 0 5 0 10 0
KH» 4B 694 2 870 1 871 -3 1,741 -2
k4> 4, 586 7 4, 899 2 5, 080 -5 9,979 -3

IS 4,841 19 4,616 10 4,685 8 9, 301 18
W 1,415 8 1,508 6 1, 562 4 3, 070 10
=+ 6 0 10 0 7 0 17 0
ErLR—TH 929 -1 802 5 951 -10 1,753 -5
SR TH 1,142 -8 1, 106 —7 1,179 -6 2, 285 -13
E5+HR=TH 876 8 801 7 861 1 1, 662 8
LRI T H 731 1 721 1 732 2 1, 453 3
E5+RAETH 730 -2 771 -2 682 -3 1,453 -5
RN TH 0 0 0 0 0 0 0 0
8 1,995 5 1,974 -1 1, 859 1 3, 833 0

oy —TH 313 4 310 3 314 1 624 4
oy T B 242 -3 255 -2 249 0 504 -2
oy b ="TH 431 -3 433 —4 453 0 886 -4
o DU B 759 -6 707 -5 803 -12 1,510 -17
o T H 463 4 495 3 519 2 1,014 5
I —T1H 258 1 302 1 338 4 640 5
FElT T H 536 1 581 2 644 -3 1,225 -1
T =T H 186 1 183 1 229 1 412 -2
s 33, 507 53 34, 731 17 35, 377 -15 70, 108 2




